Universidad Icesi Departamento de Economia

Quiz # 12
Chapter 19

Name

e Choose the MOST CORRECT answer
e You have 5 minutes to solve out this quiz

1. About a Logit/Probit model, we can affirm that:
a. its dependent variable is not binary.
b. its dependent variable could be either dummy or continuous.
c. Could be estimated by OLS.
d. None of the above

2. A Probit model implies a:
a. Normal distribution.
b. Chi squared distribution.
c. T-distribution.
d. None of the above

3. A Logit model implies a:
a. Normal distribution.
b. Chisquared distribution.
c. F-distribution.
d. None of the above

4. Itis possible to make an equivalence between coefficients:
a. Logit and Linear probability models.
b. Probit and Linear probability models.
c. Logit and Probit models.
d. Logit, Probit and Linear probability models.

5. Logit and Probit models could be estimated by method:
a. any estimation.
b. OLS

c. Generalized Least Squares
d. Maximum Likelihood
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